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MATH 10A PRACTICE EXAM 2

Please note that this practice test is designed to give you examples of the types of
questions that will appear on the actual exam. Your performance on these sample questions
should not be taken as an absolute prediction of your performance on the actual exam.
When you take the actual exam, the questions you see will cover some of the same content
included in the practice exam, as well as some content not tested on the practice exam

(1) (a) Find the derivative of f(z) = In(ln(Inx)).

(b) Find the derivative of f(z) = x2e5% sin(x?).
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(2) Sketch the graph of f(z) = 2", Find and label all local and global maximum and minimum

points and inflection points.
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(3) Oski is 2 miles offshore in a boat and wishes to reach a coastal village 6 miles down a straight
shoreline from the point nearest the boat. He can row 2 miles per hour and can walk 5 miles
per hour. Where should Oski land the boat to reach the village in the least amount of time?
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(4) Let f(z) = In(x).

(a) Find the degree four Taylor polynomial of f(x)

(b) Use the degree four Taylor polynomial to approximate In(1.1)
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(5) Consider the equation 32 = ¢*” + 2z.
(a) Find dy/dx.
(b) Find d?y/dx?.
(c) Find the equation of the tangent line at (0,-1).
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